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A= SRR FA s
HE: ooy MeY s
e RV EETEE ST CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
OssZdsdds2edmax 72,000
HEABG R XM =X 246,800 267,400 A 20,600
201 LBt Y| 27,000 12,000 15,000
01 AP 22| d| 12,000 12,000 0
Ogs=2H| 10,000
OFAEEANLRELRNEROS 10,000
Oeds¢ 2,000
OUZ3| o &AL 2,000
03 Al HHI 15,000 0 15,000
OAHAE=E &3 &0t 15,000
203 €2 F=&d| 4,800 5,000 A 200
03 Al ZH =X 2= XH| 4,800 5,000 A 200
OB MEE R 4,800
308 XAHXIEHSOIA 215,000 130,000 85,000
01 AIXSHMENMNEX= 135,000 130,000 5,000
[J=SolEAMAMSANIAESAHERNS 15,000
[JSHEAMUHAHNKNIESUAUAANLESA 120,000
10 B2 SHCHSHE A A S A 80,000 0 80,000
[J2Z 0| AP XL Ol = AR Ol X =Y & X A 80,000
ChSEQIAIIAEX 322,500 387,000 A 64,500
Xl 300,000
= 22,500
403 XX SHHS K20 & 322,500 387,000 A 64,500
Xl 300,000
= 22,500
01 MHXHAMAHEBE = 322,500 387,000 A 64,500
OJU=2HEAINEX(KNEZH) 322,500
Xl 300,000
= 22,500
LSSHERFEZEUHXNE 468,000 340,002 127,998
= 360,000
== 108,000
403 XX S M S K201 & 468,000 340,002 127,998
= 360,000
& 108,000
01 MXSHHNEE X 468,000 340,002 127,998
ODNS8HdSELEH XS 468,000
= 360,000
== 108,000
MEMNEAAHFZAEHAS 3,118,243 2,173,629 944 614
= 2,763,000
== 355,243
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AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 3,118,243 2,173,629 944,614
= 2,763,000
< 355,243
01 X SHMA2E X 3,118,243 2,173,629 944,614
OMZHEHPAIEAMS 3,118,243
= 2,763,000
< 355,243
ADHHYTEER (Q10F) 1,632,000 1,632,000 0
= 1,482,000
< 150,000
403 MtXISHHE X201 & 1,632,000 1,632,000 0
= 1,482,000
< 150,000
01 XM A=2EE 1,548,000 1,548,000 0
oot =3 1,548,000
= 1,440,000
< 108,000
02 I 2S0ICHet A== OH & A H 84,000 84,000 0
A S A EH A} 84,000
= 42,000
< 42,000
HERLH AN E A REHE X 690,000 600, 000 90,000
308 XXM SO0 A 690,000 600,000 90,000
01 HXSHBARES 690,000 600, 000 90,000
DA HEMlEAESE S XA 690,000
FHE NG =M EMAS 88,098 116,272 A28,174
= 81,952
= 6,146
308 XtXIELH SOl A 88,098 116,272 A28, 174
= 81,952
< 6,146
01 AXHHILEES 88,098 116,272 A28,174
Oxd=cl A== FH| 3,388
= 3,152
< 236
OxAEc NG M EME=ZS 84,710
= 78,800
< 5,910
HEAMDHEAARERS 130,338 0 130,338
= 100,260
< 30,078
403 XIS H S X201 & 130,338 0 130,338
2 100,260
< 30,078
01 XS M A=2EE 130,338 0 130,338




A= SRR FA s
HE: LMo F AL
Sl Y FYPENA (B9 ®R)
AR 2N EH O () - MBEAY - BAS 0l &t il HZS2
O SAFDGSAIAE RS 130,338
= 100,260
= 30,078
=NMEISAS0HAE 65,000 0 65,000
201 LEt29Y| 30,000 0 30,000
03 A2 H 30,000 0 30,000
OIS A ZES0HHE A 30,000
206 I = bl 35,000 0 35,000
01 = bl 35,000 0 35,000
OxMISASEEAANTHEZF LY 35,000
MBS AP E S G 100,000 0 100,000
307 212t01 & 100,000 0 100,000
02 DIZtZAAMEE X 100,000 0 100,000
OxASIHSALEH A 100,000
ESHgaZo IS 15,871,460 18,661,660 N2,790,200
=2 43,200
Xl 6,670,000
& 9,158,260
HEAIA 6,253,000 5,931,000 322,000
403 ItXIHXMSA201 & 6,253,000 5,931,000 322,000
01 AIXISHMA2E X 6,253,000 5,931,000 322,000
OXgoaAls 3,019,000
ogAst 200,000
oues 150,000
OBz 100,000
O atst 100,000
OXNZ& 150,000
(OF:FSh=1 300,000
(OFELESE-Y 300,000
O & atat 250,000
(OFsEa-Y 1,259,000
OEH ot e 210,000
[(JAREZHEAE 2,820,000
O=12l 8 60,000
ogfel s 90,000
OZE X112l & 60,000
Oal&1el g 60,000
osYeel s 60,000
OoO7E1elg 60,000
Oot&3el & 60,000
Ogxels 90,000
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A= SRR FA s
HE: ooy MeY s
S9l: ENEBBODARE CERED
- _ _ RE]
SoSA-EESY(EH) - NEAY - B Ol At o %Eﬁ HR=2
401 AlEHIZL 2 0HY| 3,525,000 6,642,500 N 3,117,500
Xl 2,820,000
= 705,000
01 Al&H| 3,500,000 6,616,000 A 3,116,000
OXNgHEHE (XETH]) 3,500,000
N 2,800,000
o= 700,000
03 A& 2 0HH] 25,000 26,500 A 1,500
OXgHeHE2UHH (XS =) 25,000
Xl 20,000
& 5,000
CIZ AL (HARRAMAXEA) 4,375,000 4,375,000 0
N 3,500,000
== 875,000
401 AIEHIZL 201 Y| 4,375,000 4,375,000 0
Xl 3,500,000
= 875,000
01 A& H| 4,345,000 4,345,000 0
OCZHEANE(KNEZH]) 4,345,000
Xl 3,476,000
& 869,000
03 A& £ 0HH] 30,000 30,000 0
OJCZ20HEAEE2LHEI(KIEZH|) 30,000
Xl 24,000
= 6,000
HEHZ2e (HARANAXES) 437,500 437,500 0
Xl 350,000
= 87,500
403 XX S M S X201 A 437,500 437,500 0
Xl 350,000
o 87,500
02 BI2SOHUSA=2E S AE Y 437,500 437,500 0
O (XNEZH]) 437,500
N 350,000
&< 87,500
HEMEOISXH 56,160 156, 160 A 100,000
= 43,200
= 12,960
308 XHXIGH S0l & 56,160 56, 160 0
= 43,200
= 12,960
01 AIKISHHEMNEXZ 56,160 56, 160 0
COHENEDISMBEHEXNR 56, 160
= 43,200
o= 12,960




A3 sogEes SN SMRED
HE: ooy MeY s
S9l: ENEBBODARE (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
HAOHHICIS Z (A F X H) 200,000 300,000 A 100,000
403 UHXISHHSA=0l& 200,000 300,000 100,000
01 XM= E L 200,000 300,000 A 100,000
OoetHtti =8 d 200,000
Ea2a4ds 102,000 286,000 A 184,000
308 XX EHH SOl 15,000 15,000 0
01 HIXNHHNBNEES 15,000 15,000 0
OZYpsSaz(desdo)224s3L=2RE 15,000
403 XSS X201 & 87,000 271,000 A 184,000
01 XXM 22 = 87,000 271,000 A 184,000
OoEgsiotsxd 45,000
OoEdEnssd 42,000
SIS HHI U= E 6,642,600 5,624,360 1,018,240
= 2,506,000
Xl 1,446,000
< 2,690,600
SAZINNHSS 176,000 176,000 0
403 XM E =0l & 176,000 176,000 0
01 XM A=2E X 176,000 176,000 0
OWs=BHSAZIXNMNSS 40,000
Oofl=SHAAAHEIN NS = 136,000
== &FTHOH CHHI O 3 At A X R 65,200 50,000 15,200
403 UHXHHSA=0l& 65,200 50,000 15,200
01 XM= E L 65,200 50,000 15,200
CO=&HTHOH CHEI 4 3 aF A X & 65,200
WHHHZAELNE S 60,000 60,000 0
403 UtXISHH S =0l & 60,000 60,000 0
01 AXSHMA=2E X 60,000 60,000 0
OWH=HAHSANELHE S 60,000
et & 2el 60,000 60,000 0
403 MtXISHHE X201 E 60,000 60,000 0
01 AXISHHA2E= 60,000 60,000 0
IESES=1N 60,000
BICt= T & ALY 400,000 350,000 50,000
403 A X EHS =0l A 400,000 350,000 50,000
01 X EHHMA=LE L 400,000 350,000 50,000
[ Sy N e 400,000
HEHALSSUIIELEH 884,000 881,000 3,000




A3 sHomEs SN AATED
HE: ooy MeY s
B EEEEIE (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 100,000 75,000 25,000
01 HIXNHHBHNEELES 100,000 75,000 25,000
OxaxMEMHANEE XA 100,000
403 MtXISHHE X201 & 784,000 806,000 A 22,000
01 AXISHH A2 E= 784,000 806,000 A 22,000
OotSo E2H8HA 0| 150,000
CJolH M2 A 84,000
O3MdEXMEeE= 450,000
OSANFSIUXA 100,000
S HHI UGS HEASEFA 93,500 46,000 47,500
201 ¢er24] 7,300 1,000 6,300
01 At 2t 2l 7,300 1,000 6,300
O2d=¢ 1,300
OB =gosl2dsaasds 1,300
O=gl 6,000
O3 IS A GRS A 6,000
202 04 Hl 16,200 15,000 1,200
01 = LH 4 1 16,200 15,000 1,200
OSZ 2ot HUIG=2EStAEHARFA N 16,200
301 et d = 70,000 30,000 40,000
01 MEI2EZE 406z 70,000 30,000 40,000
OF+=0PAUSH X 70,000
SHMESEH2AHAZS S 70,000 74,000 A 4,000
= 70,000
403 MtXISHE X201 & 70,000 74,000 A 4,000
= 70,000
01 X SHHA2E = 70,000 74,000 A 4,000
OxttdsZgaAc|Bess 70,000
= 70,000
A E2el 160,000 0 160,000
Xl 160,000
403 A X EHHS =0l A 160,000 0 160,000
Xl 160,000
01 X EHHMA=LE L 160,000 0 160,000
OgAHE 22 (NS 160,000
Xl 160,000
SMBRHL L2 (HEEMAXEZY) 770,000 705,200 64,800
X 716,000
S 54,000
403 XA SA=0l& 770,000 705,200 64,800
X 716,000




A= SHALI=R M LA ED
HE: ooy MeY s
B EEEEIE (B9 ®R)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
< 54,000
01 XM A2E X 770,000 705,200 64,800
O=MEQHLLF (XS 770,000
Xl 716,000
< 54,000
HEXEARE2CSSHAA 1,004,400 1,802,960 A798,560
= 810,000
= 194,400
403 XIS E X201 E 1,004,400 1,802,960 A798,560
= 810,000
< 194,400
01 X SHHA2E= 1,004,400 1,802,960 AT798,560
OdgRHE sl EsHAE 1,004,400
= 810,000
< 194,400
SUTZRUSSUTIA(HYNAMARZAH) 87,500 87,500 0
Xl 70,000
< 17,500
403 UHXSHHSA=0l& 87,500 87,500 0
Xl 70,000
< 17,500
02 SJ|1 2SOl CHSHAt 2 X O & AF I 87,500 87,500 0
O+MNSRESAEAN(NSEH) 87,500
X 70,000
< 17,500
TEIHTESAY 91,000 37,700 53,300
= 70,000
< 21,000
403 MtXISHH S0l & 91,000 37,700 53,300
= 70,000
= 21,000
01 XM A=2EE 91,000 37,700 53,300
S EEEESAY 78,000
= 60,000
< 18,000
ONLEREESAY 13,000
= 10,000
< 3,000
Sofl Qtof & 2 Al M A F A 650,000 650,000 0
Xl 500,000
= 150,000
403 UtXISHH S0l & 650,000 650,000 0
Xl 500,000
< 150,000
01 AXSHMA2E X 650,000 650,000 0
Osoiota At A MASH (XSS ) 650,000
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SoHAL =R S AR
SotP ol F YA Lot
SRS HHIOGSEHSA S

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Al 500,000
< 150,000
<l ol 4= = KA 606,000 640,000 A 34,000
= 606,000
308 AHXIEHHSOIA 606,000 640,000 A 34,000
= 606,000
01 HIXNHHNBHELS 606,000 640,000 A 34,000
OfIci82 2 HAG (H=X) 606,000
= 606,000
Fs M=K A& StAHY 780,000 0 780,000
= 600,000
< 180,000
403 X SHHE A0l & 780,000 0 780,000
= 600,000
< 180,000
01 XS M A=2EE 780,000 0 780,000
OS5 d==XIXHE SHAH 780,000
= 600,000
< 180,000
SHUAXNRISML (I Y) 240,000 0 240,000
403 XIS E X201 & 240,000 0 240,000
01 AXSHHM 22 = 240,000 0 240,000
Sl A KR 3 =2 AL 240,000
H=gUHutbl23= 60,000 0 60,000
403 A X EHHSH20lA 60,000 0 60,000
01 X ESHHMA=LE L 60,000 0 60,000
OX=3SUHIbICGH ZZ22 60,000
EFUUNESZE =2 385,000 0 385,000
= 350,000
< 35,000
403 XM S =0l & 385,000 0 385,000
= 350,000
< 35,000
01 XM A=2E X 385,000 0 385,000
O0UXIZEZAIE(SIEEHZ)ALY 385,000
= 350,000
< 35,000
MEst=MEZSS 11,650,457 21,929,445 A 10,278,988
= 120,000
Xl 7,391,000
< 4,139,457
A RS EOLEHI XA 20,000 20,000 0
307 21201 A 20,000 20,000 0




SN FE - EAEA) - HRAL il Bl RE2
02 It M AHE L 20,000 20,000 0
O==satet sl & 20,000
USRS HL 636,800 717,000 A 80,200
403 MtXISHHE X201 & 636,800 717,000 A 80,200
01 R SH X2 = 636,800 717,000 A80,200
OxtESBdEEYdRAE 224,000
O==&MS/ATHINE S 42,000
O=MSHel MEAMEXE 205,800
OXNSEASMSIHIBAIEAS 72,000
O+==2Z3MHAA 30,000
OMSIId AN AHSHI S 63,000
NHEst =L AHFH 100,800 96,000 4,800
308 XXl &M SOl 100,800 96,000 4,800
01 RtXIEHH & & 100,800 96,000 4,800
OXEEst= 100,800
MEILS A E 2ol 22| (HACCP) & bl XI & 100,000 84,000 16,000
403 TtXI & X S At 100,000 84,000 16,000
01 X SHH A2 100,000 84,000 16,000
O==&2H3 [ ol @ A 2t el (HACCP) & HI XI & 100,000
=40 g A XA 43,000 40,005 2,995
308 XXl & XM SO0l 43,000 40,005 2,995
08 W=J|20lCH 43,000 40,005 2,995
PNS=:Eoraan); 43,000
HEHNER=S 100,000 100,000 0
308 XtXIEH SOl 100,000 100,000 0
01 TtXIEHH & & 100,000 100,000 0
O 100,000
HYERFJHXA 507,000 507,000 0
308 XXl &M SOl 507,000 507,000 0
01 HXNHHNBHEELS 507,000 507,000 0
Oogessd 507,000
QINRAMSHAYR 14,700 21,000 A 6,300
308 XXM SO0 A 14,700 21,000 A 6,300
01 IXSHHMBAEE 14,700 21,000 A 6,300
O HR A=l 14,700
HEREI23AS 23,000 23,000 0
308 XXl E X SO0l 23,000 23,000 0
01 X SHHBAEx 23,000 23,000 0




A= SHALI=R S R N R}
HE: ooy MeY s
Sl AME NS (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OERE=aAHSXE 23,000
HAHEFESHZHIXE 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
02 QIZtE M AHE X 10,000 10,000 0
O&deiSHE S (TAC)IHE A3 X 10,000
o283 66,557 63,240 3,317
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A3 sEiogERe SN el2nIleME
HE: 2N EELMEIHE2RSH
e BASXNES (2 &HH)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
I Xtk & B 10,000
OXEssHY 224 10,000
301 et A= 17,118 12,536 4,582
B AISI=SR2RILZ A= 17,118 12,536 4,582
Og% 7,096
O=4AHI 4,392
[mpmE=y:]] 4,392
O88gas 300
o=yl 938
307 QI2t0| ™ 85,000 75,000 10,000
05 QIZtR E 2 85,000 75,000 10,000
OFMEAZA 85,000
401 AIEHIL 20| 420,000 515,168 N 95,168
01 A& HI 416,904 511,000 AN 94,096
OFXHEEE S A 198,560
O&dHAE L WA 198,560
O8I s4 19,784
03 A& 20HHI 3,096 4,168 N 1,072
OFXNEEESAAELUHI 1,440
OHEHLWMAIE RO 1,440
O2EFHXSESEAERUHI 216
HAHSHAY|(CISDIHRHEYH) 1,267,702 1,296,369 N 28,667
ol 2| 1,160,658 1,134,089 26,569
ol 2A | 1,160,658 1,134,089 26,569
101 @1 21| 1,140,798 1,111,709 29,089
01 B 600,059 629,711 N 29,652
OoJi=ss 445,160
Os2H 402,055
-3 (27182) 4,148 5003 x 1P x12& 49,782
-3 (143 2) 2,935,000& x2H x12& 70,440
-8=2(1982) 2,647 ,600& x5 x12& 158,856
-92(hs 8) 1,566,700 x2H 128 37,601
-HRA(27TEE) 3,557,300& x2H x12& 85,376
odz2x4¢ 402,055,000 «1/12%x50%*23] 33,505
O&Zx=gotdt=2 9,600
- 25E 0| & 130,000& x2H x12& 3,120
154 0] &~20E O] Bt 80,000 x4H x12& 3,840
- 104 0] &k ~15E 0] 2t 60,000 x2H x12& 1,440
- 54 0] &~104 0] 2F 50,000& x2H x 128 1,200
Oxg 77,724




re o2 ofn
JY oY

8

olgrmEs SA 2D HRHE
A (PSDIIATHE)
2|

22N B SA(HN) - NRAY - BYS Ol &t o il 2
OSSR 3,054
-528UR 3,557,300& *4. 1%+ 1H 128 1,751
-72u=R 2,647 ,600& x4 1%+ 1H »12& 1,303
ONEs=E 10,560
- BH < Xt 40,0003 x 128 128 5,760
- JIEHOHS 20,0003 x20H x12& 4,800
OoRlg=2:2+g 1,080
-UE 50,0003 x1&H «128 600
-23 40,0003 x 18 «12& 480
OS+dR+¢ 6,480
-JIsdEsY 4,560
52 50,000 x1H » 128 600
6= 30,0003 x1H«128 360
- 8,92 20,0003 x7H 128 1,680
JH&EZ (D1 AL) 30,0003 x2H 128 720
JHAES (AP IIA) 20,000& *4H 122 960
IS (2EEH) 20,0003 x 18 «128 240
-HPYRE 1,920
HARAXNSRH 80,000 x2H » 128 1,920
OANMZe 2R 52,069
-HHE 10,331 & x12H «10Al 2+ x 122 14,877
-ZUE 10,3313 x12H +25A| 2t+ 128 37,192
Ozelge=+< 4,148,500 « %+ 1H 12 4,481
PSR Eaall 130,000& =12 » 128 18,720
OYEF Oty 402,055,000& *1/12%60%*23| 40,206
OAHIE &bl
402,055,000 *1/12*86%*1/30% 19 18,249
03 RIAHAZZ2 B+ 540,739 481,998 58,741
OE=0AMSEALME 22 499,739
OJles 1,392,760& *15H x12& 250,697
Od0= 1,392, 760& *15H x400% 83,566
Og Xt 1,392,760 /209%8* 19 x15H 15,194
2&5+g 8,712
- 10901222 X 42,0003 x138 128 6,552
(SN R=S===DN; 90,000 x2H » 128 2,160
Ofg2R+g
1,392,760 /209%8*1. 5% 15 x4 » 122 57,577
OP == 10,800
- i Xt 40,0003 x 158 «128 7,200
- JIEHOEE 20,0003 x15H 128 3,600
OANMZRY
1,392,760 /209%1.5%10AI 2+ * 15 x12& 17,993
(@OFNE=3- N 60,0003 x15H 128 10,800
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42 sHoTEERE SN ESOFAEME
HE: ES0FAULASSUHS
CHol: BIAOIM B S A (ctel:&2)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
01 2LHHI 6,500 7,000 A 500
OMAXLMENSAS T A B 6,500
207 SO0 ] 20,000 20,000 0
03 A& 2| 20,000 20,000 0
OESHRSES 15,000
O&H7¢ 10,000
OFJIIYOILEHEAIZ 2 5,000
OMNEARSII XL 5,000
405 XtAHE S| 455,000 170,000 285,000
01 JHAHE =2 Z F S b 450,000 165,000 285,000
OREMPAEEMLAIA R (14]) 450,000
02 S A7 5,000 5,000 0
O DA A 5,000
ESZHISIZMAMIISHELES 282,711 195, 109 87,602
Xl 16,000
T 266,711
=ME A D SO 20,000 0 20,000
Xl 16,000
T 4,000
207 A FOH £ 20,000 0 20,000
N 16,000
T 4,000
03 A& FH| 20,000 0 20,000
O=MEHAADXTHR L (K E T H|) 20,000
Xl 16,000
& 4,000
EMEA D SO (XHA) 107,411 135,109 AN 27,698
101 @121l 54,911 87,109 A 32,198
04 JI2ZtH 22 XNEE % 54,911 87,109 AN 32,198
=M YdMAIE Z 222N
48,2403 *4H %240 46,311
o =dl 1,400
O5U A 2EE 7,200
201 et A | 21,000 11,000 10,000
01 AFR2 2t 2l dl 15,000 5,000 10,000
Odget=gH| 5,000
OXsdLdEIDASHO 5,000
Oexz 10,000
OMEHSAMAIE EXHEHI S X 10,000
02 35244l 6,000 6,000 0
[EPNE=FaR=s] 6,000
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A3 sogEes SN ESOBAMASME
HE: ES0FAULASSUHS
S 4STo B L CERED
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
H=SHMSSHE 10,000 0 10,000
X 8,000
< 2,000
207 & O &H| 10,000 0 10,000
Xl 8,000
< 2,000
03 Al & 11HI 10,000 0 10,000
O (KNSl 5,000
Xl 4,000
< 1,000
OMESHLINI NN AL (XS EHI) 5,000
X 4,000
< 1,000
SO X2 A EHH E A 170,000 0 170,000
Xl 136,000
< 34,000
308 MtXIEHSOIH 170,000 0 170,000
Xl 136,000
< 34,000
103 2SoteBaH AL 170,000 0 170,000
OYsSZHAAMEIHEZAH(XISEH]) 170,000
Xl 136,000
< 34,000
S 20 XH2 A EH A = AF(RERI) 17,500 18,000 A 500
202 O4dl 7,500 8,000 A 500
01 = LH 4 Hi 7,500 8,000 A 500
OY S HENAH AP R X A O HI 7,500
207 RO 10,000 10,000 0
03 A& &2l 10,000 10,000 0
CMEH A AN 2 10,000
SRUMIHS 468,044 251,255 216,789
101 @124l 81,044 42,855 38,189
04 JIZHHZ2XNSE S 81,044 42,855 38,189
mPEEPEE-EJ=PUPNICE S-E LT
48,2403 x7E »240 81,044
201 Let24dH] 75,000 76,400 A1,400
01 At 2teltl 14,000 15,400 A 1,400
Ogst=2tl 14,000
ONAEZL2HIIESH = 5,000
O H2E =22 LEDNERC 9,000
02 =224l 56,000 56,000 0
do=ztl 50,000
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SHogEzs
ELNBMASRUES
HASK B S

tol

F-RA-BH-SAEA) - HRAY - BAS of 4 o4 il HI RS2
401 AIEHIZ 2 CHHI 110,000 0 110,000
01 A& dl 108,938 0 108,938
CICCTVE X 39,568
CIXIot==0H & 69,370
03 AlE 2 THHI 1,062 0 1,062
CJCCTVE XAl 2 0HHI 432
OXlot==H 2 Al 220l 630
HY2HIH(ESOFALSAEH) 829,209 754,822 74,387
el 2l 698,565 619,642 78,923
el 2l 698,565 619,642 78,923
101 1248l 677,265 619,642 57,623
01 2= 573,923 527,718 46,205
oJ=as 416,572
O==H 375,555
- 52 (308 8) 4,238,100 «1& =122 50,858
-6=(1788) 3,134,800 x3& 122 112,853
-72(1388) 2,584,200 x2E «12& 62,021
-8=(1088) 2,122,300 x2F 123 50,936
-92(658) 1,566,700 x 18 »12& 18,801
-ARA(TES) 2,224,600 x3F x12& 80,086
o¥dza=+¢ 375,555,000 *1/12%50%*23] 31,297
Od=2=gltt= 9,720
- 258014 130,000 x 1 »12& 1,560
- 15801 &~20= 0] 2t 80,0002 x3H 123 2,880
1001 &4 154 0] 2t 60,0002 x4 123 2,880
- 501 &~104 012+ 50,0003 »4H x 12 2,400
O=¢ 84,028
Oli=s*a=+g 3,629
-430 2 4,238, 1003 *4 . 1%*x1E x12& 2,086
-53UR 3,134,800& +4 . 1%x1H « 12 1,543
OJN&E=¢ 10,920
- X 40,000 x 128 x12& 5,760
- JIEHHS 20,0002 x20H x 12 4,800
-t s 30,0002 x 12« 12& 360
OPNJE RS IRRSy 3,712
-Nssd 463,900 2 x43] 3,712
Ooflg=22+¢ 480
-=3 40,0002 x 12 =123 480
OS+g2=+¢ 8,640
-Jl=dE+4E 5,760
58 50,0002 x 1~ 12& 600




St ™ =22 2N ESHBAYSMH
HHSAAH (ESHB ML S HE)
ol 2o bl (B9 ®R)
S 2N BB (BH) - SN - B2 0 Ak o8 ﬁlf& HDS2
- 6,72 30,000& x5H x12& 1,800
- 8,92 20,000& x3¥ ~12& 720
JbAZ2(J1= AH) 50,000& *x1H x12& 600
JEAFZ2 (DAL 30,000& *3¥ x12& 1,080
DRSS (AHE DAL 20,000& *3H x12& 720
otz (28 ) 20,000& x1H ~12& 240
-HRHERE Y 2,880
HAIRAZSLRA 80,000& *3H x12& 2,880
OAZIAZREY 52,069
-yHME 10,3312 x 12 «10A| 2+ x 128 14,877
-x=E 10,3313 12 *x25A| 2Hx 128 37,192
OoZelgaet 4,238, 1009 xQ%*1H x12& 4,578
O A ZAH| 130,000& 12 x12& 18,720
OYEEF Ot 375,555,000 «1/12%60%*23] 37,556
I At
375,555,000& *1/12%86%*1/30*19 17,047
03 I HLs22 N 103,342 91,924 11,418
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